X7 7"7 'own 2,70 naw .7"02

It is suitable for the one who - 1R NIRRT 90 RDT MRT INAD NTIIT
maintains they did not say it regarding all Toom ois

Overview

The X7n3 said that using the concern of NXvr » 773 as a reason why there is a 77"
of MW" XMV is acceptable only according to the 7" who maintains that X2 N7
M was only for a n» nxaw. Our 'DI0 explains who that 7"» was,' and why he
maintained so.
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2"'aw" maintains so in %92 nPIWR -
- (33999 MY 5991 {Y 299 ) DYY 50NT NINA 23)

In that 73w which the X123 cited previously, "1 379%2p21 370D N12nn 92 -
= PIYI INNMDIVY 1IN RNPND INRT NP NINN N9

And »"2w1 argues with the ?''n who stated simply 739R2K7 JR2IVY 19375 in all cases

(without qualification); however 3"2w1 maintains that I1WRIT JRAIV? 17170 is only by nn kMY -
$PP9NY DY XYY 592W 4N2Y91 11T NOD NN NNNDIVT DIYN NNPYV)

And the reason he was concerned for N nR1Y (only), because n» nX™W is for a
long time so the owner will break it for he will not want to wait.

Summary
The concern for brakeage is much greater for n» nRM1Y since it’s longer in duration.

Thinking it over

Does nn nXmv mean that the 2°% actually touched a n»n (which is highly unusual,
especially in the story of 7127177 1% %), or does it mean it touched a n»n Xnv (which
usually is not a T nxMV)?¢

!'See 7"n% "7 >"wn who writes, X277 X7 X9, See 2777 Twh.

2 The n"a7 MAxT amends this to read (X"n X™9) 0°9> noona o7 (instead of @°757 XNOINA *37)

3 The marginal note amend this (parenthesis) to read, "2 17°22pm 3701w Mann 22 (cited on the '} Ty). The mawn in
its entirety states. 237 XY, 92X 32w 73w JARMPIVY 117,077 1 WYY 700 ,102W . PRE0 19200) 10D ,Mann 29
WO NRAMWY ROX IR0,

4 It requires at least seven days for a >3 (or person) to become v from n» NX™W (sprinkling from the 779 79X is
required on the third and seventh day). Other mx»w however can become "1 immediately that day, by immersion in
a mpn (and waiting for nightfall). See ‘Thinking it over’.

5 It will then become M immediately (and he will resolder it).

6 See ow 0°93 noon? w1 wWITD.

TosfosInEnglish.com



